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Multiple Choice Questions

1. The point on the x-axis which is equidistant

from the points (5, 4) and (-2, 3) is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Oo30WXtwqVjJ


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

( − 2, 0)

(2, 0)

(0, 2)

(2, 2)

2. If the distances of p (x, y) from A (-1, 5) and B

(5, 1) are equal, then

https://dl.doubtnut.com/l/_Oo30WXtwqVjJ
https://dl.doubtnut.com/l/_XZ3tZ0SH8nJx


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x = y

3x = 2y

3x = y

2x = 3y

3.  and (1, 2) are the

vertices of a/an ______________ triangle.

(1, − 1), ( − , )
1

2

1

2

https://dl.doubtnut.com/l/_XZ3tZ0SH8nJx
https://dl.doubtnut.com/l/_HphguussR5qY


A. equilateral

B. isosceles

C. right angled

D. scalene

Answer: B

View Text Solution

4. If the point (x, y) is equidistant from the

point  and , then

which of the following is correct ?

(a + b, b − a) (a − b, a + b)

https://dl.doubtnut.com/l/_HphguussR5qY
https://dl.doubtnut.com/l/_rOySlgRjBycK


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ax = by

ax2 = by

ay = bx

ay2 = bx

5. Which of the following points is equidistant

from  ?(2, − 3)

https://dl.doubtnut.com/l/_rOySlgRjBycK
https://dl.doubtnut.com/l/_zFTGf3Fl7VgP


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

( − 1, 0)

(1, 0)

( − 2, 0)

(2, 0)

6. Which of the following point is equidistant

from (3, 2) and  ?( − 5, − 2)

https://dl.doubtnut.com/l/_zFTGf3Fl7VgP
https://dl.doubtnut.com/l/_NO53AHLs8g6Q


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(0, 2)

(0, − 2)

(2, 0)

(2, − 2)

7. Which of the following points are the

vertices of an equilateral triangle ?

https://dl.doubtnut.com/l/_NO53AHLs8g6Q
https://dl.doubtnut.com/l/_2fK0JhWyEqye


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(a, a), ( − a, − a), (2a, a)

(a, a), ( − a, − a), ( − a√3, a√3)

(√2a, − a), (a, √2a), (a − a)

(0, 0), (a, − a), (a, √2a)

8. If the points  and 

are col-linear, the value of p is

( − 1, 3), (2, p) (5, − 1)

https://dl.doubtnut.com/l/_2fK0JhWyEqye
https://dl.doubtnut.com/l/_LaKn5SYcWQnT


A. 1

B. 

C. 0

D. 

Answer: A

View Text Solution

−1

√2

9. The co-ordinates of the point which divides

the line joining (1, -2) and (4, 7) internally in

the ratio 1 : 2 are

https://dl.doubtnut.com/l/_LaKn5SYcWQnT
https://dl.doubtnut.com/l/_pzECu3heVh3u


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(1, 2)

( − 1, − 1)

( − 1, 2)

(2, 1)

10. In what ratio is the line joining the points A

(4, 4) and B (7, 7) divided by p  ?( − 1, − 1)

https://dl.doubtnut.com/l/_pzECu3heVh3u
https://dl.doubtnut.com/l/_JTywrH3Wo3xU


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

8: 5

5: 8

5: 7

7: 4

11. What is the ratio in which the point 

divides the join of  and  ?

Also, find the value of .

P (γ, 6)

A( − 4, 3) B(2, 8)

γ

https://dl.doubtnut.com/l/_JTywrH3Wo3xU
https://dl.doubtnut.com/l/_wGOOnYx2yhFo


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1: 3

2: 3

3: 2

2: 5

12. Find the value of N if point P(-3,N) bisects

the line joining points A(12,-1) and B(-18,17)

equally.

https://dl.doubtnut.com/l/_wGOOnYx2yhFo
https://dl.doubtnut.com/l/_9fosHRiSvgxD


A. -2

B. 3

C. 6

D. 8

Answer: D

Watch Video Solution

13. The vertices of a triangle are (2, 1), (5, 2) and

(3, 4). Then the co-ordinates of the centroid

are

https://dl.doubtnut.com/l/_9fosHRiSvgxD
https://dl.doubtnut.com/l/_bd0Atygeq0z0


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

10, 3

( , 7)
10

3

( , )
10

3
7
3

( , )
7
3

10

3

14. If the area of the triangle formed by the

three points is zero, then the points lie on a

https://dl.doubtnut.com/l/_bd0Atygeq0z0
https://dl.doubtnut.com/l/_BUmXjgEU2RXR


A. stragth line

B. curve pointing convex upwards

C. curve pointing convex downwards

D. all the above are wrong

Answer: A

View Text Solution

15. What is the area of the triangle formed by

the points  and 

?

(a, b + c), (b, c + a) (c, a + b)

https://dl.doubtnut.com/l/_BUmXjgEU2RXR
https://dl.doubtnut.com/l/_J5skE7GVqoD5


A. 1

B. 

C. 0

D. 

Answer: C

View Text Solution

−1

(abc)21

2

16. What is the area of the triangle formed by

the points  and 

?

(a, c + a), (a, c) ( − a, c − a)

https://dl.doubtnut.com/l/_J5skE7GVqoD5
https://dl.doubtnut.com/l/_9STGqfB0Q7sU


A. 

B. 

C. 

D. zero

Answer: A

View Text Solution

a2

1

a2

a2 + a

17. What is the area of the triangle formed by

the points  and 

 ?

(a, c + a), (a2, c2)

( − a, c − a)

https://dl.doubtnut.com/l/_9STGqfB0Q7sU
https://dl.doubtnut.com/l/_fcddq85JzUzA


A. 1

B. 

C. 

D. 

Answer: D

View Text Solution

a2

1

2

−
1

2

18. What is the value of y if 

and  are collinear ?

(y, 3), ( − 5, 6)

( − 8, 8)

https://dl.doubtnut.com/l/_fcddq85JzUzA
https://dl.doubtnut.com/l/_ihgkzS5O0rDV


A. 

B. 2

C. 

D. 

Answer: D

View Text Solution

−1

1

2

−
1

2

19. Which of the following points are collinear

?

https://dl.doubtnut.com/l/_ihgkzS5O0rDV
https://dl.doubtnut.com/l/_niIv9ioifd3I


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(2a, 0), (3a, 0), (a, 2a)

(3a, 0), (0, 3b), (a, 2b)

(3a, b), (a, 2b), ( − a, b)

(a, − 6), ( − a, 3b), ( − 2a, − 2b)

20. The mid-point of a line is  and

one end of the line is . The co-

ordinates of the other end are

( − 4, − 2)

( − 6, 4)

https://dl.doubtnut.com/l/_niIv9ioifd3I
https://dl.doubtnut.com/l/_hkFu3T6nlBVQ


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(2, − 8)

( − 2, 8)

( − 2, − 8)

(2, 8)

21. The ratio in which the line 

divides the line sequent joining the points (1,

3) and (2, 7) is given by

3x + y = 9

https://dl.doubtnut.com/l/_hkFu3T6nlBVQ
https://dl.doubtnut.com/l/_JpRVLjYz2gfq


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

4: 3

3: 4

2: 3

3: 2

22. The area of a triangle whose vertices are

 and (p, 0) is 3 sq.

units. What is the value of p ?

( − 2, − 2), ( − 1, − 3)

https://dl.doubtnut.com/l/_JpRVLjYz2gfq
https://dl.doubtnut.com/l/_xzZwZb530E5M


A. 

B. 2

C. 3

D. 

Answer: B

View Text Solution

−2

−3

23. Find the co-ordinates of the centre of the

circle passing through the points ,

 and . Also find its radius.

(0, 0)

( − 2, 1) ( − 3, 2)

https://dl.doubtnut.com/l/_xzZwZb530E5M
https://dl.doubtnut.com/l/_m1etGEzgCZA2


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , 11)
3

2

(3, )
11

2

( , )
3

2

11

2

( − 3, − 11)

24. In what ratio does the point 

divide the line joining the points 

P(2, )
−5

6

A( − 3, 5)

https://dl.doubtnut.com/l/_m1etGEzgCZA2
https://dl.doubtnut.com/l/_OPI57EZBvghv


and  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

B(3, − 2)

1: 5

5: 1

2: 3

3: 5

https://dl.doubtnut.com/l/_OPI57EZBvghv


25. If the vertices of a triangle are (2, 4), (5, k)

and (3, 10) and its area is 15 sq. units, the value

of k is

A. 25

B. 51

C. 52

D. 

Answer: C

View Text Solution

23

2

https://dl.doubtnut.com/l/_4yiZ8g5GFSTC


26. The midpoints of sides of a triangle are (3,

4), (4, 1) and (2, 0). Which of the following does

not devote the co-ordinates of its verities ?

A. 1, 3

B. 5, 3

C. 5, 5

D. 3, -3

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_wwASgKTpSZEb


27. The point which lies on the perpendicular

bisector of the line sequent joining the points

 and  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

P ( − 2, 0) Q(2, 5)

(0, 0)

(0, 2)

(2, 0)

( − 2, 0)

https://dl.doubtnut.com/l/_QptQoT0aKIrS


28. The fourth vertex D of a parallelogram

ABCD whose three vertices are A(-2,3), B(6,7)

and C(8,3) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 1, 0)

(1, 0)

(0, − 1)

(0, 1)

https://dl.doubtnut.com/l/_eGNx0tGyj1bN


29. If  is the mid-point of the line

segement joining the points A(-6, 5) and B(-2,

3), then the value of 'a' is

A. 4

B. 

C. 

D. 

Answer: D

View Text Solution

Q( , 4)
a

3

−6

−8

−12

https://dl.doubtnut.com/l/_CrrKSQ1brJGm


30. If AOBC is a rectangle whose three vertices

are A(0,3),O(0,0) and B(5,0), then the length of

its diagonal is

A. 3

B. 5

C. 

D. 

Answer: D

Watch Video Solution

√7

√34

https://dl.doubtnut.com/l/_FfBZ5SO1vjbr


31. The perimeter of the triangle with vertices

(0, 4), (0, 0) and (3, 0) is

A. 

B. 11

C. 12

D. 

Answer: C

Watch Video Solution

3 + √5

√13

https://dl.doubtnut.com/l/_zv5LO04loUt6
https://dl.doubtnut.com/l/_RP6R2UmvuayK


32. Which point on x-axis is equidistant from

(7, 6) and  ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

( − 3, 4)

(2, 0)

(3, 0)

( − 5, 0)

(1, 0)

https://dl.doubtnut.com/l/_RP6R2UmvuayK


33. In what ratio is the line segment joining

the point  and  divided by y-

axis ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

( − 2, − 3) (3, 7)

( − 2, 3)

( − 3, 2)

(2, 3)

(6, 0)

https://dl.doubtnut.com/l/_fOIgouwQPgD6


34. What is the perimeter of the triangle

formed by the points (0, 0), (1, 0) and (0, 1) ?

A. 

B. 2

C. 

D. 

Answer: D

View Text Solution

√2

2 − √2

2 + √2

https://dl.doubtnut.com/l/_gGUmcpvjwrqB
https://dl.doubtnut.com/l/_w8wBbDPiwJKZ


35. If points  and  are

collinear, then  equals

A. 1

B. 

C. 2

D. 

Answer: A

View Text Solution

(a, 0), (0, b) (1, 1)

( )
a + b

ab

−1

√2

https://dl.doubtnut.com/l/_w8wBbDPiwJKZ


36. If the distance between the points 

and (1, 0) is 5, then  equals.

A. 4 only

B.  only

C. 

D. 0

Answer: C

Watch Video Solution

(4, γ)

γ

−4

±4

https://dl.doubtnut.com/l/_3vy1etC6L2Us
https://dl.doubtnut.com/l/_plbZYpEjoeBT


37. The distance of the point P(4, 3) from the x-

axis is

View Text Solution

38. The distance between the point (0, 5) and

(-5, 0) is

A. 

B. 

C. 5

D. 0

2√5

5√2

https://dl.doubtnut.com/l/_plbZYpEjoeBT
https://dl.doubtnut.com/l/_JhMRFVySW7rw


Answer: B

Watch Video Solution

39. Which of the following points lies in the

fourth quadrant ?

A. 

B. 

C. 

D. 

(2, − 7)

( − 3, 5)

(0, 0)

( − 4, − 7)

https://dl.doubtnut.com/l/_JhMRFVySW7rw
https://dl.doubtnut.com/l/_b5JfEzFjnHRU


Answer: D

View Text Solution

40. The points (-4,0),(4,0) and (0,3) are the

verticess of a

A. Scalene triangle

B. Equilateral triangle

C. Isosceles triangle

D. Right triangle

https://dl.doubtnut.com/l/_b5JfEzFjnHRU
https://dl.doubtnut.com/l/_vDz4tHB7t2sL


Answer: C

Watch Video Solution

41. The point which divides the line segment

joining the points (7,-6) and (3,4) in ratio 

internally lies in the

A. I

B. II

C. III

D. IV

1: 2

https://dl.doubtnut.com/l/_vDz4tHB7t2sL
https://dl.doubtnut.com/l/_u6M2wHWbg1wW


Answer: D

Watch Video Solution

42. The co-ordinates of a point (x, y) which

divides the straight line joining two points

 and  internally in the ratio 

and  are

A. 

B. 

(x1, y1) (x2, y2) m1

m2

x = , y =
m1x1 + m2x2

m1 + m2

m1y1 + m2y2

m1 + m2

x = , y =
m1x2 + m2x1

m1 + m2

m1y22 + m2y1

m1 + m2

https://dl.doubtnut.com/l/_u6M2wHWbg1wW
https://dl.doubtnut.com/l/_teJKexlRi9LD


C. 

D. 

Answer: A

View Text Solution

x = 0, y = 0

x = , y =
m1x1 − m2x2

m1 − m2

m1y1 − m2y2

m1 − m2

https://dl.doubtnut.com/l/_teJKexlRi9LD

